$ SHIMPO
el =
ill
Models NVA-07B
NVA-15B




-

NVA—-O07B and NVA-15B

lequeyo wnndep g2
Jeddoy uoisueixe Alejes vz
jeddoq g2

YoUms Juiy - e

picolemod €2

owely gz

Youms  1e

1loq Burxy dwng 02
eseqgdung 02

Jojow dwnd wnnoep 6l
Buiuedo 1ejur i 381
ureip Jejem pue 0 (18}
buwedo esesjel iy g1
Buiuuyuod jee| 10 g81
Buiwedo exeul iy vgi
dwnd wnnoep  g|
18AGO JUOl4 /|

jiw Bnd 1o} J0j0p 91
leonpai peads 43 Gi
aseg vl
18A00 MBIdS €1
buydnoo ajesedas [eoipulihy 21
g 8SEI MOIOS ||
g oieid wnnoep, 0l
sBuiysnc onseld 6

v ejed wnnoep, g
obneb einsseid ¢

Y ©SED MBJOS §

Mme10s Buop-g mesog g
MBIOS HOYS-Y MOIOS ¥
goseg ¢

8jZzoN ¢

1501 hep) |

Jequunp javd

4By




Specifications

Model NVA-07B NVA-15B

Main Motor 1HP, 750W, 230V, 60Hz, AC | 2HP, 1500W, 230V, 60Hz,
AC, 3-phase

Vacuum pump motor | 1/3HP, 100W, 60Hz /3HP, 100W, 60Hz, 3-phase

Capacity 1100 Ibs/hr. 1320 Ibsthr.

Tube opening 4'diameter 43/ diameter

Hopper size 42" x 4112* 5Va' x4/

Dimensions (LxWxH} | 70%/4" x 16Y4* x 53V/4’ 7514" x 161" x 541/2*

Weight 287 Ibs 353 1Ibs

Shipping weight 320 Ibs 400 Ibs

Accessories Clay rest, clay cutter, hopper cover and nozzle cover

Salety device Safety extension hopper, key-operated on/off switch

Preparation

1. Fill vacuum pump with hydraulic oil #68 (provided) to center

of oil gauge.

2. Attach clay rest with bolts (part #1).
3. Plug in power cord (part #23).

For NVA-15B:

nTo connect with knife switch: Connect red, white and black
wires to knife switch. Green wire is ground/earth.
To test: Turn pug mill switch to “1”. Screws should turn
forward. If they turn in reverse, reconnect two of three wires
(not ground /earth) (fig. 2).

forward

reverse

fig.2



wTo connect using plug: Connect green (earth) wire to prong
(see arrow in fig. 3). Connect red, white and black wires to
other prongs. Test as above.

For NVA-07B:
Simply plug in power cord.

4. Mount safety extension hopper (part #25A) onto hopper (part
#25) by using four fixing bolts.

Note: Pug mill motor will not work without safety extension hopper.

l - d
. ~
O O
Wall «‘ Wall
plug . plug

fig. 3

Operation

1. To rotate screws, turn switch to “1”. To operate vacuum pump,
turn switch to “2”. Vacuum will not work until clay enters
nozzle (part #2).

2. Close valve at side of vacuum chamber (fig. 4).

3. Add clay. Pressure gauge (part #7) must read more than
70am/Hg for clay to be de-aired and pugged.

Pressure gauge

. Yacuum chamber
Yalve

)
==C=L

fig. 4 (top view)




To stop:
sTurn switch (part #21) to “0”.
»Open valve at side of vacuum chamber (fig. 4).
Note: This step is essential so that oil in vacuum pump will not
Sflow into vacuum chamber.

4. Release water. If pug mill will not be used for a long period of
time, open oil and water drain (part #18D) to release water.

Cleaning

1. Remove pressure gauge (part #7).

2. Pull out the hose from half union (fig. 5). Push at point “a” of
half union in direction of arrow and pull out hose.

3. Remove screw cover (part #13) by removing two knob screws
from base (part #14).

4. Position cylindrical separate coupling (part #12). Turn switch
to “1”. Turn screw until the allen bolt that tightens the
cylindrical separate coupling comes to the top. Turn switch
to “0”.

5. Remove clay rest (part #1), nozzle (part #2), screw case B
(part #11), vacuum plate A (part #8). Remove two stainless
allen bolts.

Filter

Half union-,

m



6. Remove plastic bushings (part #9). If worn, replace to avoid air
from leaking into vacuum chamber.

7. Remove cylindrical separate coupling (part #12) (fig. 6).

8. Lift screws A and B (parts #4 and #5) and remove vacuum
plate B (part #10) (fig 7).

9. Clean clay from all parts of the pug mill with water.

cylindrical separate coupling

Key way
drive shaft

fig. 6

ly'_ . Screwdriver
’ Screwecase A

fig. 7




To Reassemble

1. Put vacuum plate B (part #10) into screw case A (part #6). Boss
will be on motor side. Female screw is on the vacuum plate B
(fig. 8).

2. Place one half of the plastic bushings (part #9) on vacuum
plate B (part #10).

3. Mount screws A and B (parts #4 and #5). Put screw shaft onto
drive shaft, match screw shaft and key of drive shaft (fig. 6).

4. Hold screw shaft and drive shaft tightly with cylindrical
separate coupling. Keep even distance on both sides of
coupling (approx. Imm). Marks A and B are engraved on
couplings. Match “A” to “A” and “B” to “B” of the couplings
and tighten. Hammer lightly key into keyway of the coupling
(figs. 6 and 9).

Yacuum plate A

: plastic bushings
4/

8 3 Hotor

~

fig. 8

fig. 9




10.
11.
12.

13

. Place the second half of the plastic bushing (part #9) onto
screws A and B (parts #4 and #5.)

. Fasten vacuum plate A (part #8) onto vacuum plate B (part
#10) with allen bolts.

. Place screw case B (part #11) on screw case A (part #6) and
tighten lightly by hand. Clean all dirt on the interfacing
surface to avoid air leakage.

- Mount nozzle on screw case A and B (parts #6 and #11).
Tighten all bolts and nuts. Loosen two upper bolts and nuts
(fig. 10).

. Tighten the ten bolts that were tightened by hand in Step 8

(bolt Bin fig. 10). '

Tighten two bolts loosened in Step 9 (bolt A in fig. 10).

Mount clay rest (part #1) and screw cover (part #13).

Set hose into half union (fig. 5).

. Mount pressure gauge (part #7).

Screw case B

Nozzle packing. l

Mozzle @ /T.“ b
T e

i:

)

Screw case packing

Screw case' A

fig. 10




Maintenance

mAfter operating, cover pug mill:

1.
2.
3.

4.

Place rubber cover onto nozzle (part #2).

Mount pressure gauge (part #7).

Put wet cloth into hopper, cover hopper opemng with nylon
and place aluminum lid on.

Pour a small amount of water into hopper periodically if it
will be unused for a long time.

alf clay enters vacuum chamber:

1.
2.
3.

Turn off unit.
Remove pressure gauge.
Remove clay stuck in vacuum chamber,

»T0 release water from filter, push protruding pin on filter
(fig 11).

wTo replace clay cutter stainless wire (fig. 12):

1.

Remove broken wire and fasten wire on a-side.

2. Bend cutter in direction of arrow “P”.
3. Fasten other end of wire onto b-side while cutter is bent.

b

Cutter / ~Stainless wire
Nozzle

Push

fig. 11 fig. 12



Lubrication

For gear box: The gearing has been permanently lubricated with
Shell Darina Grease EP.0, Mobil Mobilax EP No. 1 or equivalent.
Re-lubrication is required only if repairs are needed.

For vacuum pump: The vacuum pump has been lubricated with
Esso Teresso 68, Shell Vitrea 68 or equivalent. Oil change is
recommended every 125 hours.

Troubleshooting

»Clay is not taken in smoothly:
1. When soft clay is to be pugged, mix with a small quantity of
harder clay. When it runs smoothly, soft clay can be added.
2. If clay is too hard, pour in a small amount of water and let
sit for several days until it becomes soft. If clay still does not
go in, disassemble pug mill and thoroughly clean all clay.

3. Extruded clay: If the surface of clay extruded appears as in
fig. 13, remove nozzle and clean.

fig. 13



sVacuum pump belt needs to be ;eplaced:

1.
2.
3.

4.

Remove front cover (part #17).

Remove pump fixing bolt (part #20A).

Pull out hose from half union (fig. 5). Push at point “a” of
half union in direction of arrow and pull out hose.

Remove the connector attached to the vacuum pump motor
cord (part #19). Lift the tip of hook and open both sides of
connector to remove the connector (fig. 14).

. Pull out pump base (part #20).

fig. 14



6. Replace belt (fig. 15). Place screwdriver between vacuum
pump pulley and belt. Rotate vacuum pump pulley by hand
in direction of arrow. Remove belt. Place new belt on motor
pulley. Slip belt onto vacuum pump pulley by again rotating
pulley in direction of arrow.

yacuum pumj

Screw //
Driver

otor pully\ﬁelt

fig. 15

Warnings

=Do not operate with wet hands.

sWhen cleaning or unloading, unplug power cord.

sKeep hands, apron, clothes, etc. away from hopper and rotating
parts.

sDo not remove safely hopper until pug mill motor stops
running.

AMERICA CORPORATION

3500 DEVON AVENUE, LINCOLNWOOD, IL 80653
Telephone: (708) 679-676S Fax: [708) 678-5033

Ilz



SN SALES 0L il sW -NA- o1

PAGE /)

TITLE NOTE ON VA(‘/UUM PUMP ISSUE DATE | || 710/ Q2

MADE BY Hitoshi

To mantoin the dharocteristic of the vacuum pump,
Follow the notes desaribed  below-

AR INLET VALVE
/ A) Abid running the vacumm pump
TR with the air inlet wlve open.
Bad circulation of ail in pump
couses damoges of internal parts.

B) When Stop the pump,
o) Open du air inlet valve and

o let. ain qo nto the pump,
—— B) Turn off the switch For de
Cj Vaccum  pump-
» ©) Drain water after .using.
v/ (Waﬁ_ antill ol ond water
oRAIN VALVE separate. (Z~3 hours  repuired)
ACUUM

o p

{VIEW FRoM NOZZLE> ( WATER) (o)




